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The string of a kite is 158 m long and it makes an anglf 30°
with the horizontal. What is the height (in m) of the kite ?
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The angle of elevation of a ladder against a wall is 45°. The
length of the ladder is 12 m. What is the distance between the
waII and the foot of the ladder ?
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A ladder leaning against a window of a house makes an angle
of 60° with the ground. If the distance of the foot of the ladder
from the wall is 4.2 m, then the height of the point, where the

ladder touches the window from the ground is approximately :
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The angle of elevation of a ladder standing against the waII IS
60° and the distance between the foot of the ladder and the wall
iIs 6.5.m. Find out the length of the ladder.

GET T Hiet T ITIT HI0T 60° § ST Hiet & I

oft FFare ¥ et B s
(A)12 m (D) 13v3 m
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A straight vertical pole was broken during a cyclone in sh a way
that its top touched the ground at a distance of 6 v3 m from the
bottom of the pole and made an angle of 30° with the horizontal.

What is the height (in m) of the pole?
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A kite is flying at height of 138 m above the ground. It
attached to a string inclined at 45° to the horizontal. What is the
approximate length (in m)of string ?
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The angle of elevation of top of a tree from a point on the
ground which is 300 m away from the base of the tree is 30°.
When the height of the tree increases, the angle of elevation
changes to 60°. Find out the increase in the height of the tree.
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From the top of a house A in a street, the angle of elevatlon and
depression of the top and foot of another house B on the
opposite side of the street are 60° and 45° , respectively. If the
height of house A is 36 m, then what is the height of house B?
U 8% H Th mA%aﬁtf@r gEsh & A fRem & g e B &
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From a point 12 m above the water level, the angle of elevation

of the top of a hill is 60° and the angle of depression of the base

of the hill is 30°. What is the height of the hill?

T T H 12 2T FuT T f6g 9, @E@Eﬁ%ﬁ%l ShRE ST
600 g 3T IBTST & ST FT JA-H S
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(A)36 m (B) 483 m
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As observed from the top of a lighthouse, 45 m high above the
sea level, the angle of depression of a ship, sailing directly
towards it, changes from 300 to 45° . The distance travelled by
the ship during the period of observation is:

9T T Tz a § 45 H1eT TH-TF ATcasd & Y & @7 47 &,
T STgTST ol AATHT I, : TohT 3T ST @1 &, 300 § 450 g+
TS STAT gl ATATRT ol SAATH & I STGTST GILT aF =l T G &
(A) 32.9 m (B) 24.8 m (C)33.4m (D) 36.9 m

(SSC CGL 2022)
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